. stituti

1. The only one provisions in md:ﬂ: :Dﬂ
which was passed by Consli
without virtually any debate =
(A) Introduction of Universal 5um.i .
(B) Introduchon of f undamental Rig

(C) Introduction of Parliamentary ?ystem
(D) Introduction of Directive principles
2. Find the next letter in the following series.

85, WS. 7! ?
;Al’. '3'9 ~ (8) v9
(C) ov (D) 9V

3. A wooden block is dropped from the top of
" " :dﬂ 100 m high and simultaneously a bullet
" of mass 10 g is fired from the foot of the cliff

ds with a velocity of 100 ms™", The bullet
wooden block will meet each other aftera

: . (B) 10s
BN(D) 7s

Governor of Reserve

e

)Sir C. D. Deshmukh
None of the above

1 bench. There are

in the group and no
310 the second right
are facing south.

One of the corners

€10 a boy. H does
1€ corners,

on
t Assembly

(c) %
e 1001, 3 A 8 0 v 0 7 frovan
a1 & 31T 10 7T ZoTA At v el @
gra <8 % ad @ 100 H. /& F A F @ IR
£ 3 3 S 2 | el i FwE F gww

(A) 0.55
(C) 1s (D) 7s

wrdtd fd a9 & gget 9| a4 7
() . sitaiae 1) w4, dogE
¢y 4. wzrar
JWE E TSA|l A A HiE e

CMES -S4
a8 FE v wav R dfm

' Wa@a;ﬁmaﬁéagnfﬁmhﬂfmmm

m;j-.ﬂﬁﬁi arfua £ IEHTH

() e AT ) gy

(B) vo
(D) 9v

{4y =18 OF g8 @ e |
(B) 10s

(D) I9UE ° F FHIE &I

A FR ?

(A) 32
(C) 31

(8) 30
(D) 39U T § F1S TE

faw e i 2 a0 sverea 1 sik 38 W st
ﬁnm%ma:




i

7. Indian Peng) Code has total "-___chapters.

8. Which of the followin attern in which
he p
placenta is arranged luE ;sn‘ovaﬂ' ?

(A) Stylopodium B) pvulation

(C) Aestivation () placentation
9. Indo-Sri Lanka F reement was
came into force fect Trade A6
(A) 2021 (8) 2000
R . 2010 (0) 2018
.1 ﬁ‘!Whlt is the missing character that should
replace the question mark ?
e A C F
| ) 7 I
4 H ) M
iE3 (B) )
» (0) M

m of Government adopted in France is
esidential (B) Parliamentary
deral (D) Semi Presidential

 means A is the daughter of B. A =~
Ais the husband of B. Ax B means
r of B. i

2 % R, which of the followingis$

the niece of R

the daughter of R

the COUSII‘I Uf R

the daughter-in-law of R

‘Climate Change Conference of the
CcoP26) was held from November
21 at

(8) Hague

(D) Glasgow

of the Code of Criminal
3 deals with when Police may

?

'ode of Criminal

Zode of Criminal
f Criminal

'.':“ b

e
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7. wfia 7 wfin § g s ¥ |
(A) 23 (8) 24
(C) 25 (D) 26

8. fm i @t aa-w A Y fnnil @dz 37zmm A
=rafeoa gla & ?

(A) TZrgemifamm (B) 30
(€) ufedum (D) rﬁﬂ!ﬂ
9. I - 2fteF1 s = A A i
STt e v o :
(A) 2021 (8) 2000 w
Q) 2010 (D) 2018 o
10. 20 u v o i Tur v A -A TR €W
A C F
D 2 |
H J M
JA) F (8) J
(C) C (D) M
11. m@“ﬁmﬂnﬁmﬁw@w%?
1) e (B) FEEE
(C) Eita (D) 3 Twafa

A+BR SERABRATHRIA-BET 3R
ABFGA2 IAxBFI FARA BFIWER |

a2 p+Qx R, Fefefaa i@ aH-wada e ?
DELE R s

(8) P, R &1 Tl 2

(C) P, RET Tl A B

(D) PRRFT AR

2§aiﬁgaamzt-ﬁammi’lm (CoP26) 1-12,
Tgat 2021 H A |

() HiE (8) &

(c) T (D) Ter

yymafus whEn wfea, 1973 ) FR-d a@
gfer amiz & farnn fimgardl & wafm 2 7

(A) s wfEar d@fea, 1973 6 w47
(8) vt wfiman wfan, 1973 4 v 41
(c) smyufier wfzFn w@fean, 1973 6 um 42
(D) 3raufir wfiwan wfear, 1973 #1 w46

12.

14,

Yi
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Ab¢PEESH g

" 15‘ mﬂq ym%:‘v&iﬁ“ \h
W &1 o diy Ty
H ight of the '3.3?' aamiammm .

15. ABC ll’ Etrrﬁcnmes Ihrcg “t’ It:":or the lﬂ:‘ 'c'; p & 3 q"*’%;ﬂ‘"ﬁ "
What lett€ immediate oht of th LT TN
lotter uh-l!”f;“;g:ncs three (0 lf'{ﬁ;[getter B (A) F fﬂjﬁh 3;-,,:?%
the letter (Rt oly to the left 0 (€) G UL T
letter {mme (8) B - O, &

F D) A o I b
tu A " T
ctice of evaluating an?u:]enrc;” own from . *"}'}ﬁ:‘j h Tt

16, The prd the standards ©O A) STl LA
according 10 ( sfeaaras (8) 3p . ")
culture is ca”f‘,’sm (8) Multiculturalism () T i

ocentr! ove TR
((2; :f:nocentfism (D) None of the - 17 # ] Wﬁ m%?q-..,:;:* ig*’fim
: ; iven ’ R
Select the correct mirror image ! theAng T TE" T f‘h‘m‘
m re when the mirror is placed at line AB. ' >

figu

al (<3

) _<%_)B e ﬁ . w E .
|| & (©) @J %EI (©) E () E

—_ :

18.  Which type of insect pests are responsible for [ 18, 91 & §&3 3 fiama foe fre v s &

yellowing and drying of foliage ? foerEr ‘gﬁi ?
(A) Bitting mites (B) Roaring mites (A) imzqarég'-f (8) 'Im?ﬂﬁﬂ?
(C) Sucking mites (D) Sleeping mites (C) ?Laqam el (D) FR I
19. 0.000033:0.11=? 19. 0.000033+011=?
(A) 0.003 (8) 0.03 (A) 0.003 (6) 0.03
, (C) 0.0003 (D) 0.3 (C) 0.0003 (D) 0.3
20. In Microsoft Office slide show button ha S 37 ke o
s . TTRETRTR e e W 4et
| w Which is used to adg information 20 bk g FF g mﬁ“f"—ﬂ_"ﬂ"’
' (A) Last viewed (B) Help e | (8) ¥

, (€) Go to slide

(A) TREE ) et

(D) Pointer options




[ form of life 18 suited
jronmental

d 5 o'clock are
hour ;:nd of a clock in

' Research Institute (NORI)
__ district of Haryana.
(B) Rohtak

(D) Delhi

2 Internode of

the calyxand  Jlla

Internode _etween
oecium

Internode between
cium

the Internode between

pecium

slice, the second in
ble Is called a
Jeputy Constable
™ ::’1 Dle

hown below.
number will

B
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22, YRR Y Oy fvg w ow P s s i

e ) fafy @ sepper s fm TIpE Y
(A} anfrtiy RES IR

0y ¥Maw ML
(€) wnfaa yqgera
(0) (B) 3% () ;4

Frar amm 4 sbe g a4 v, freaz o 2 anh
7t Ffia foamsdt o orefy 7

(A) as7F 548 fipp
11

23,

3

(8) assr¥T 53 = faaz

1

(C) a 71 55E.1.fn'-17. \

(D) a9 59 2 firz
11

24, Eft!@n%ﬁwﬁwﬁﬁmﬂ:ﬁqw-mm

FIRUR HEaTA Hear (A damad,) R 7
(A) feam g (B) 7= &
(C) FEIA W

(D) faeehm
L
(A) T il & Ferw ol wriren % = A
T TS T B R
(8) F= Nl & agiferam sfv v F
EACIE4

(C)- F2 It 1 = == 3 = famm & e
LE2CIES

(D) Fw i 1 vafedl o v ¥ da
7EE

wore qfer & W, vE ¥ FRaE woTwn
FHIE Feern @ |

(A) (8) 3

(C) A (D)mzwa

s s ) 2) feafag) & 409 cota o @ 9w
we A1 2, @ AE-) v sy ?

26.

27.

(A) 2

" 0

(8) 1
D) 5

Yl
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29,

30.

31.

32.

ntered
Weber's analysis of modern society €€

on the concept of
(A) Regression
(C) Repression

(8) compensation
(D) Rationalization

What is the maximum nt

ymber of pieces into
which a cube can be cut by 18 cuts ?

(C) 282 (D) 343

Consider the following statements about
Meghdoot mobile app.

1. It provides crop advisories to the farmers
based on the weather information.

2. Itis ajoint initiative of India
Meteorological Department (IM D),
Indian Institute of Tropical Meteorology
(1ITM) and Indian Council of Agricultural
Research (ICAR).

Choose the right option given below :

(A) Only the statement 1 is correct

(8) Only the statement 2 is correct

(C) Both the statements 1 and 2 are correct
(D) None of the above

A can complete a piece of work in 18 days
B in 20 days and C in 30 days, B and C togethe”
start the work and are forced to leave 3*

2 days. The time taken by A alonetocor  .e
the remaining work is

(A) 12 days (B) 10¢
(C) 15 days (D) *  4ys
helpsinere .nga

presentation by leading you through some
basic steps.

(A) Notes pane

(B) AutoContent wizard

(C) Auto save

(D) Slide master

Want-sa!t.isfying capacity of a commodity or service
(A) Utility . (8) Demand
(C) Consumption (D) Investment

The following question is based on the serjes :

ABCDEFGH
TUVwxyza FLMNOPQRS

Ifthe above alphabets are divi
ivided in two
alves from A to M and N to Z, which Iet(tattelru ?nl

the lat |
l(ettera je?r half would be corresponding to the
A Q

T

30.

32,

33.

A) mmlmg
(B) ¥ T4 27 §
(C) T 1.3 23 gy
(D) 3% 58 37

A TH W F 18 fA A,

¢, 30 A d quam g 2 eBﬁocmsﬁ

g;:ﬁﬁigﬁ?ﬂiﬁﬁﬁhwﬁmmw
gy - 4

Am%mrrmmT i

(A) 12

(©) 15f3 (D) 163

— YNNIEO il %
A T gl TR 3§ werm g |

(A) 28 &

(8) 1033

(B) sz faamd

(C) A ¥

(D) wmE M

W v 41 G ) uin-agEn
(A) W (8)
(c) wa o) Faw

AERR@TAA B CDEFGHIIKLMND
PQRSTUVWXYZ'il*IGn‘Rmm;aRI}
i aamaliNu?
af 3 il @ Q) wAE 3, A MRS
¥ ater sy arzar@ amt R aof ) & dina
_gravi g 7
Hy-ud i 8
(D) W

Downloadedifrom www.cclchapter.com



35.

36.

37.

41

Q.

which of the §
bio-mass ene o8

(A) Wood
(C) Nuclear energy

owihg j an example of a

(8) Gobar-gas
(D) Coal
world Malaria Day
year on

‘A) 25 AugUst

(C) 25 April

IS celoprated every

(8) 30 March
(D) none of the above

::gwri;?;id a place op Friday. He came to

scheduled de was three gays earlier than the

followin ay. If he had reached there on the
B Sunday, how many days late/early

he would have been ?

(A) One day earlier

lier
(C) Two days late (B) Two days ear

(D) One day late

T:1e amplitude of the electric field of a plane
:h ectromagnetic wave in air is 6 x 10~ vm™,
e amplitude of the magnetic field will be

(A) 1.8x 10°T (8) 5x 10T
(€) 2x 1077 (D) 2x 1077

Is a shortcut key to start a new
word processor file.

(A) Alt+N
(C) Ctrl+N

Which of the following will be the third di”
from your right end of the fourth nu
after the numbers are arranged in desr

order ?
4697 6989 5392 7518 6215 5942

(A) 4 (B) 5
(C) 2 (D) 9

Theft of intellectual property is prohibited as per

(A) Arms Act, 1959

(B) Criminal procedure Code
(C) Copyright Act, 1957

(D) Companies Act, 1956

(B) Shift+N
(D) Alt+Ctrl+N

«
ANE

Who is the Current C
of Manipur ?
(A) Pema Khandu

(8) Nongthombam Biren Singh

hief Minister of the State

35,
e

36.

37.

38.

40.

(C) Biplab Kumar Deb
(D) None of the above

Downloadé

E

41.

42.

CMES-54

freafifiag 3 @ ada-wh s 3l W @ o

Farem adl 7

(A) e () ma-fa
(c) nfirfa 3al (D) TWTEN
e wAfa faw wars
FAaT e |

(A) 25 HTTE
(cf 25 &

sifret A T YA A | 38 W e

i e Fuiha wna @ @ gl ada o )3l
ﬂmﬁmﬁtrmaﬁf@:nmtﬂm%ﬁm

e /ozema v 7

) WA

() 30w
(0) 3% A A H§

(A) v faa qd (8) 2 2 7

() @ Raar (D) u & wa
ar A vE AeAd ey o % faga s
%ﬂﬁxlo*éﬁg & | v &
3™ B

(A) 1.8x 10°T (B) 5x 107 T

(€) 2x107'T (D) 2x 10717

wF 78 9E MHH el TN F3

3 feru, e ergue gl @ |

(A) Alt+N (B) Shift+N

(C) Ctrl+N (D) Alt+Ctri+N

frefefta wEmsi w1 e #M 4 =afedd
m%mﬁmm%mﬁﬁﬁaﬁMﬁm
FA-wEm ?

4697 6989 5392 7518 6215 5942

(A) 4 (B) 5
(C) 2 (D) 9
e w1 = fds srgam PfE R 7

(K) e aifufaam, 1959

(8) i whwn wHfea
() Fidige iufrm, 1957
(D) @ safufam, 1956

trfﬁxgltm%ﬁaémgmﬁﬂaaﬁ?

(A) T T,

(g) et it fére
(c) frem FR 2
(D) 3w H | Frd 7

Y1
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43, According to 2011 censy

s the female literacy

rate of India is
| (A) 69.4% (B) 82.4%
| (€) 75% (D) 64.6% ’
| 4. Which number will come in the place o

(B) 1009
(D) 9999

ensures that information is

to those persons who are
access it.

| (8) Integrity

(D) None of the above

Sections of IT Act applicable for

hy?

568 (B) 67,67C, 67D

| (D) None of the above

1 dents, Rakesh is 12" from the

| Is 17" from the right. When

ashi interchange their position”

comes 27" from the right. How
re there between KashiandR>* . ?

(B) 10

(D) 12

tial sector in India i< Aafated by

ce Minister

ve Bank of India (RBI)

nk of India (SBI)

nister

in code, 'PICTURE' is written as
how will 'TELECOM' be written

(B) GVVOXLN
(D) GVOVXLN

tes of India are defined
f Ce nstitution of India,
(B) Article 293

(D) Article 14
‘above the baseline is

o

o

43.

‘5.

46.

49.

50.

51,

AT ¥

:r?“ﬂ e *mm’ﬁ%
A%

(A) g:% (B) 32.&%

(€ o (D) 64 6%

RBE® T RN
TBO::WO:? T HE s »
() 901

c) 9889 e
( (D) 9999
T 7 m’ h . .

1 $orm
ﬁ;,—“‘m{ o, M m W?*mm %6
(A) (8) $ararh
S (D;mgﬁﬁ#
argat THITE ¥

NI CL S

(A) 66, 66A, 668 (B) 67,67

(C) 67A,678 (D) zw%m%;?:?ﬁ#
franfid ) o i & a2 .
Frefl 2§ 17 a1 2 tmnﬁfﬂ:m?;
H AW a1 f, i wmfi et o) 7
GRS lmaﬂtm%aﬁaﬂﬁ;gggﬁ%
(A) 9 (8) 10

(C) 7 (0) 12

vt frads _ m fahm et
(A) fam A

(B) fmf oF 3% 3w (amAtand,)

(C) =2 ¥= 3w 3fvzm (wg ..

(D) wuE

af2 v g2 ‘PICTURE’ #1 'KRXGFIV' fermn =1
2, @ I g2 H TELECOM' F1 ¥ feran wrem

(A) GVOVLXN (B) GVVOXLN -
(C) GOVVXIN (D) GVOVXLN 2§
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52. India isp?:n _—
W R
g ® &

- :.' Ilmlm'ﬂuwv‘(m?‘ lh!m,w: of Compressed
TR h“hgﬁﬂ"ﬂ ’m'f‘i:‘l‘l::ml

52.

53.

55.

57.

58.

59.
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airen fae it wan ag oyt o
aen dn by

(A) 6™ () A"

() 6" 40) A"

am amgy, ar! whfza avgfrs fn
3 Qb At afvae
arhy wn v fam ¥y

() -4

(0) freeht

moam W
(¢ v sh )
el i v wgen
(A) Hnein

(c) wué
pa,RINCT 3 v wrftan 8 e fam  aifem Mg
. Q® qia A p g Pk A s 0
& ) & wiq 1 faer s A en A | g s
qr waAtfirE 3w el Al EER

(M Q (B) P

(C) R o) T

S far ofeFt 3@TE 2021
g fera man |

(A) TN

e

(D) i 7m

ot 18t 00 gErE @ 10 f Hatad &,

ssowﬂﬁaﬁuﬁ:ﬁiﬂuﬁ%mﬁmﬁwm

(A) 55 (8) 14

) 13 (D) 11 e
Fie o saR T R d

(A) ITLWE HREIE

(C) ITTEE (D) TR
Iﬁﬁ'ﬂlﬁﬂ'«ﬁaﬁngmﬂa‘cﬁ%.ﬁﬂﬂ'{
W?Kmﬂﬂfﬁ%,ﬁmmm%m

8 Km el 2, R AT Fea 11 Km Wl B,
R nd g 7 Km el @ | ag i fag &
Rt gL ?

(A) 3Km (8) 9Km

(C) 7 Km (D) 6Km

nﬂnftﬁﬂadmtﬁwﬁnfatﬂtﬂt.n’tut
(A) tf el whfd

(8) w1 whIf

(meﬁuﬁtfa

(0) Frrehf

Yl
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b

i 60. Baking Soda is
| (Amam, (g: ::,ggs
4
i (C) NalCO,.10H30 ( 2
61. Find out the missing term.
| 2“' 120! 60! ?l 15
bl (A) 20 (B) 25
| (C) 30 (D) 10
62. Pollination by Pseudocopulation is seen in
(A) CAM plants (8) Orchid
| (C) Papaya (D) Coconut
~ 63. One year ago, the ratio between Laxmi’s and

Gopi's salary was 3 : 4. The ratios of their
individual salaries between last year's and this
year's salariesare4:5and 2: 3 respectively. At
present the total of their salary s Rs. 4,160. The
‘salary of Laxmi now, is

,040 (B) Rs. 1,600
' (D) Rs. 3,120

Emel sorts all the data in
order.

Iﬁthe above

he following state...«nts about
ent in India.

loyment occurs when
work during some
(giﬂng off-season).

get
year

2y
i
o

il
.
'

—

- .10

g b
‘A) NBHCOJ OH.g (8) Na cq
() NasC5 T (D) gyl
A ¥ | o
240, 120, 60, 7,15
(A) 20 (8) 25
(c) 30 (0) 10
() & (B) w5z
(c) el (0) T 2
ARG Tl
3'4””mﬁ’*"‘%éﬂtmm#w‘$ﬂa
W?ﬂqﬁ;ﬂm 4:53M2:38 | gim=z
kCEd ¥ 4,160, mmi 31 s 3 b
(A) ¥ 1,040 (8) %. 1,600
(C) *. 2,560 (D) 3. 3,120
fewiee ¥9 3, e v arfes
guigleame b
(Araﬁ'flﬁ
(8)
(C) §mTY
(D) 3% # & #rf 7
i i st e 3 ok e v
o fmm a |
1. e Fst) 9 € R = A 7 3T
W & A (=g F Aw) 7
firea
[ F1HEA F 8 |
Prerfirfn i & w6 s 1w = :
(A) % 18612
(B) A 288 @
(¢} %o 132 HFAR
(0) w13k AT
T a1 A ¥ e S
FEAE !
(A) g
(Brl;":;
(C)
(o) S F AT
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67. :&ﬂﬂs Que o
*d by tw: re giv
conchision(sy 4 Conepesions. Choose. the
a;‘:::‘:l : b.ﬂ fit(s) logically

: ST e T ey -. he ;
n ,W buttonent
| m' oill. ;iﬁﬂl Inserts the SUM
m (B) AVERAGE
(D) PrROPER

'lmPS in a hall. £ach one of
ADe on independently.
of ways in which the hall can be
iy
BENB) 1023
(D) 10! »'iJ

" =
(B Equani
D) Dimetane

67.

69.

70.

71.
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v o, 0w fro o 3, faad wrz 2 faued
feo mo ® 1 @ Fead s @ wf§a =R ot
wh =zl
LY £

1. Tomaqeh #

2. %18 wf T A R
e :

I Fowehaa

. F wTh A #

(&) Faa frad || sgmm Fwm @

(B) Faet fwrd | srpom v 2

(€) 7 et | 3 # 1) srqm FA R

(0) Bz ) 3de ) 241 sgrn A §

SUM w1 7% sifiE vEe TR § fom uea
B maw 73wt
T B, 1 & § suM XFTE TEm R |

(A) AutgSum (8) AVERAGE
(C)- £DIT (D) PROPER
pFriatoae | FE AT AT FU R
are frm o @ R 1 wle ) OTR w0 F Al
Eag el
(a) 2° (8) 1023
(c) 10 (D) 10!

=W FIEE N I @A F
fFefrmsademd)
(A) ZfETETE T (8) T
(€) 721 (D) T3S
UF WNR F FIEN, 39 Fzaum i s
Ffzam i3 & 73 wfy =1 wfasma wow: §
(A) 40,10 (B) 60,20
(C) 40,1 (D) 20,1
UF TFEER 74 8 11 FFd §1 3@ SE0 @
R, % v =5fF i e m? s e d
mEmEF M 2omm @ 19
Far @
(A) 1471z (B) 15H=X
(C) 1651 (D) 205X

Yl
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73,

ELN

Yl

BCI stands for

(A, Relore Compute interface
(B) Brain Computer Interaction
(C, Before computes [tera N
(D) Brain Compute Interface

o

ORI

,':_nnb.'“\

TR w O
Based on characteristics all Iving This

can be classhed nto difterent axa
process of classificabon s called

(A) Taxonomy (B) Algorthm ‘
(q Cla\igoms ([“ None of thest

if the 6™ term of an A P is 121 then the sum

of its first 11 terms is

(A) 1210 (B) 1331

(C) 1330 (D) 1333

The UEFA - Football European Championship

Final of 2020 was won by '

(A) South Korea (B) Indonesia

(C) Italy (D) England

When did Vardhamana Mahavira attained Ninana ?

(A) 526 BCE (B) 748 BCE

(C) 599 BCE (D) 527 BCE

Manish invests Rs. 3,818, which is 20°° n?s
shatas

monthly income, in insurance polici”
his monthly income ? '
(A) Rs. 19,090

(C) Rs. 19,990

means taking backup of dataon a
remote computer over the Internet.
(A) Mirror backup
(B) Full backup method
(C) Online backup
(D) Incremental backup

(B) P 4009
(D) ,°19,900

World Immunization Week is celebrated every
year on

(A} 24 to 30 September

(B) 3to 9 March

(C) 24 to 30 April

(D) None of the above

Cyclical changes during reproduction In deer
are called

(A) Oestrus cycle

B) M |
1) Shul coe (B) Menstrual cycle

(D) Asexual cycle

-12-

71

i,

75.

76.

ok

78.

79.

80.

81,
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pcr ™ ¥ b

(A) it A porig
MEL WA Sy
\

(! WICALI A G #20 (]

() 94 R Ty

fagrn ! W S 0

"!‘f’ il !'_-'1' \J:J‘,
A

ATt

{‘\) ’_"ﬂ'-h'ﬂ

tt) }(ﬂ 1’:””‘3::'

aft Pl T iy

‘I!“(\ 1 l "':: ‘: li]q P

(A) 1210

Wt Wy s o g
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SL Inthe following question, a sentence has beel
given in Active/Passive voice, Out of the four
alternatives suggested, select the one which
best expresses the same sentence in Passive

ve Voice.

Garima has written a newspaper report on the

inauguration of a new Corporate Office.

(&) A newspaper report on the inauguration
of a new Corporate Office have been
-written by Garima.

(lf A newspaper report on the inauguration
of a new Corporate Office had been

7 written by Garima,

(C) A newspaper report on the Inauguration
of a new Corporate Office is written by
Garima.

(D) A newspaper report on the inauguration
of a new Corporate Office has been
written by Garima.

English Language

92. The following sentence contains grammatical
error or idiomatic error in it, You have to find
out that part of the sentence and choose the
alphabet of that part as answer.

He has been causing trouble since a day he
came.

(A) He has been (B)”causing trouble

(C) since a day (DY he came

. In the following question, part of the -
sentence is underlined. Below are . _
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